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2UFIE 22 (s OF2HI0IE) 33,924
SEFIHE ME=&EA 8,000
e+ =2d FE JdetssHs WSOt 15,912
201 LEt2 Y| 21,000 21,000 0
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FNHEESE Y 22 4,475,000 6,974,000 A 2,499,000
g 1,040,000
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Al 3,355,000
2HFEXE X4 2 2 895,000 160,000 735,000
201 LBt Y| 50,000 60,000 A 10,000
01 AP 22| d| 50,000 60,000 A 10,000
AIJEX SUH==XE 292X S 50,000
401 Al HI L 2 0HHI 845,000 100,000 745,000
01 Al&H| 845,000 100,000 745,000
AMOHR 2 UHFEXE =4 100,000
H&2E OIS =4 630,000
H&23E OISsF=XE =4 75,000
SIAFXE A2 =HE 40,000
M=% SI=IHE HIEE&M L Fy| 70,000 0 70,000
401 AlEHIZL £ 0HY| 70,000 0 70,000
01 Al&H| 70,000 0 70,000
=2 SSFIUE JEEM 2 FHH| 70,000
BHNAHEE 2T LAF=XNE S (XA 450,000 0 450,000
401 Al HI L 2 0HHI 450,000 0 450,000
01 Al& H| 446,760 0 446,760
SENLHELHSG LAFNHE ZHBA 446,760
03 AlE 201 Y| 3,240 0 3,240
BHEMNAHE2S] LAFRNE ZEZ2A 3,240
sUH1eES OIs=13 =4 200,000 1,664,000 A 1,464,000
Fag 100,000
Al 100,000
401 AlEHIZL 2 0HY| 200,000 1,664,000 A 1,464,000
Fag 100,000
Al 100,000
01 Al& b 200,000 1,664,000 A 1,464,000
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= 100,000
Al 100,000
&2 MIF=XE X4 300,000 0 300,000
401 A& HI L E0HHI 300,000 0 300,000
01 Al&HI 300,000 0 300,000
&28 MA=XHE X4 300,000
BHA SU33 SEFINE X4 100,000 0 100,000
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01 Al&tl 248,200 248,200
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sU4E OISF=XE =4 1,000,000 1,000,000
s 500,000
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s 500,000
Al 500,000
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